Generator file information: w101500 n3n3n1e1e2n2_o

process_id=w101500

job_date_time=100628-144446

process name=n3n3dniele2n2 o
CM_energy_in_GeV=350
program_name_version=whizard-1.40
beam_particle1=e1

beam_particle2=E1

polarization1=-1.0

polarization2=+1.0

luminosity=1000
cross_section_in_fb=0.820840934761192
lumi_file=/tmp/lumi_linker_directory/lumi_linker_008
file_type=stdhep

total nhumber_of _events=10000

number_of files=1

file_names=w101500 01.stdhep

number_of events in_files=10000
fileurl=Ifn:/grid/ilc/users/miyamoto/CDS/generated/0350
logurl=http://www-jlc.in.kek.jp/~miyamoto/CDS/0350/run_output/w101500/run_01
comment=
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w101500 n3n3n1ele2n2_o

: There are no 2-jets



w101500 n3n3n1e1e2n2_o : There are no 4-jets



